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Candidates are required to give their answers in their own words

as far as practicable.

×

horseshoe 

Please Turn Over



( 2 )
T(6th Sm.)-Philosophy-H/[DSE-A-2(c)]/

Philosophy of Language/CBCS

×



( 3 )
T(6th Sm.)-Philosophy-H/[DSE-A-2(c)]/

Philosophy of Language/CBCS

[English Version]
The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1×10

(a) Which of the following sentence is syntactically incorrect?
(i) Will tomorrow I go to office. (ii) If you go then I will go.

(iii) Either I will go or you will go. (iv) Triangles are not three sided.

(b) Which of the following is a sign but not a symbol?
(i) Dark nimbus cloud (ii) Horseshoe in logic ()

(iii) Musical notation (iv) All of them.

(c) Quotation marks refer to
(i) words which stand for other words (ii) proper name

(iii) objects (iv) None of these.

(d) Definition by equivalent words should be
(i) psychologically satisfactory (ii) logically replaceable

(iii) coherent (iv) none of them.

(e) Man is an animal— this definition of ‘man’ is
(i) too narrow (ii) inapplicable

(iii) too wide (iv) metaphorical.
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(f) Which of the following words have meanings but does not have denotation?
(i) Centaur (ii) Man

(iii) Horse (iv) None of these.

(g) The statement— ‘Saturday is in bed’ is meaningless because it involves
(i) untranslatable metaphors (ii) category mistake

(iii) meaninglessness outside a given context (iv) self-contradiction.

(h) Which of the following word is vague?
(i) Table (ii) Door

(iii) Fast (iv) Sun.

(i) Which one of the following is not a criterion of sentence meaning?
(i) Imaginability (ii) Describability

(iii) Explicability (iv) Knowing what it is like.

(j) In what sense is meaning used in the sentence — ‘smoke means fire’?
(i) In the sense of indication (ii) In the sense of effect

(iii) In the sense of significance (iv) In the sense of cause.

(k) The bag contains 10 black balls and 10 white balls.
(i) The above statement is verifiable.
(ii) The above statement is confirmable.
(iii) The above statement is both verifiable and confirmable
(iv) None of these.

(l) A language, which is devoid of vagueness, is
(i) international language (ii) natural language

(iii) national language (iv) artificial language.

2. Answer in brief any five of the following questions : 5×5

(a) Distinguish between syntax and semantics.

(b) Discuss in brief the different forms of Ambiguity.

(c) State the difference between an ostensive definition and a verbal definition.

(d) State any four meanings of the word ‘meaning’.

(e) Discuss in brief the Quorum feature of language.

(f) Are there things which are meaningful but not words? Explain with examples.

(g) Imaginability and Describability as criteria for meaning of a sentence. — Discuss.

(h) Discuss in brief any three problems in respect of Referential theory of meaning.
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3. Answer any two questions :

(a) What is a word? How is a word related to its meaning? Why is conventional usage of a word
preferred? Is there any exception to the rule of common linguistic usage? 2+6+2+5

(b) (i) Explain with example the difference between defining characteristics and accompanying
characteristics. Can a universally accompanying characteristic be regarded as a defining
characteristic.

(ii) What type of characteristic is mentioned in the following propositions – accompanying or
defining? Give your explanation.

(I) A good player seldom looses game.
(II) Birds can fly.

(iii) What is definition by denotation? State some of the difficulties of such kind of definition.

(4+2) +4+(2+3)

(c) What is meant by vagueness? Explain three cases of vagueness of a word. 3+12

(d) What is the testability criterion of meaning? Distinguish between the verifiability and confirmability
criterion of meaning. How can testability be assessed as a general criterion of meaning? 4+5+6


